GSX1400 HUGGER

Fitting Kit:

1 x bracket

1 x M6 x 12mm button allen bolt
2 X M6 x 16mm button allen bolt
3 X M6 s/steel washer

3 x M6 nylon washer

2 X M6 nyloc nut

Fitting instructions:

Remove the original chain guard.

Remove the rubber grommet from the chain guard and fit into the hugger.

Remove the brake hose clip from the swing arm — the clip is NOT refitted.

Remove the nut from inside the lower right shock absorber bolt. Position the bracket over the
bolt and the hose clip mounting point.

The brake hose should pass over the short part of the bracket and down between the bracket
and the back edge of the swing arm.

Secure the bracket using the original nut and clip bolt.

Do not secure fasteners in the first instance.

Position the hugger over the tyre, taking care to ease it past the suspension units.

Secure at the rubber grommet using the original bolt with loctite or a similar thread retaining
compound.

Secure at the rear chain guard mount using the M6 x 12mm bolt with s/steel and nylon
washer with loctite.

Secure the hugger to the bracket using 2 x M6 x 16mm bolts with s/steel and nylon washers
and the M6 nyloc nuts.

Check hugger alignment before finally tightening all fasteners.

Please note; check hugger alignment and fasteners periodically.



